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SOCIOLOGY
PAPER-II

AlAidion
Yy-II

This paper contains FIFTY (50) multiple-choice/Assertion and
Reasoning/Matching questions, each question carrying two (2) marks.

Attempt ALL the questions.
A8 B UauaHl v (40) erglsely usrll, WY vilg WA RS oirttaqirl us-dl

8. M Wslisil B dvialrl . UAs Usl A () @ D,

‘Sociology is a science of
interpretative understanding of

social action. Who said it ?
(A) Durkheim

(B) Marx

(C) Pareto

(D) Weber

Division of labour in simple
societies is based on the principle
of : |

(A) age and sex

(B) achievement

(C) socialization

(D) merit

Which of the following scholars is

considered as = founder of

‘positivism’ ?

(A) .‘ Max Weber

(B) Auguste Comte
(C) Emile Durkheim

(D) Karl Marx
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Which of the following is
determinant of social class
according to Max Weber ?

(A) Life chances

(B) Life style

(C) Power

(D) Prestige

When a person who has a job as
a. clerk in government in
Ahmedabad resigns and joins as
a clerk in a private company in
Ahmedabad, this is an example of
which form of mobility ?

(A) Horizontal |

(B) Spatial

(C) Downward

(D) Vertical

Give the most appropriate term
for the following :

A group of school going young men
periodically involved in shop
lifting : |

(A) Westernized culture

(B) Influence of modernity

(C) Delinquent culture

(D) Juvenile delinquency
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Wj:ich of the following is not a
to

al institution ?
(A) Monastery
(B) Mental hospital
(C) Prison ~
(D) Day school
Give the nearest term to a group
-of persons comprising of a
husban-d,‘wife and unmarried

children.

(A)| Conjugal family

(B)| Extended family

(C) | Neolocal family

(D) | Joint family

The| nearest term for the ‘sum of
all the statuses that an individual
occupies’ is called :

(A) |Status set

(B) [Role set

(C) |Multiple Role

(D) Role sequence
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10.

11

12.

Give the nearest term to a person 10.

who performs different roles in
the course of a day; like manager
in his office, friend in the club,
helping his father in the home :
(A) Role set

(B) Multiple role

(C) Status set

(D) Role conflict
All persons with black eyes would

constitute : . 11.

(A) Group
(B) Aggregate
(C) Social class

(D) Social category

Which of the following is not

the characteristic of littlev 12.

community ?

- (A) Distinctiveness

(B) Smallness’
(C) Self sufficient

(D) Heterogeneity
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13.

14.

15.

Groups which are based on face

to face relationships which shape

the feelings of members, is called :

(A) Primary group

(B) Secondary group

(C) In-group

(D) Out-group

Give the nearest term to a
situation, when children dress in
their parents’ clothes and play

‘house’ :

(A) Resocialization

(B) Adult socialization

(C) Total institution

(D) Anticipat;ory socialization
Achieved status i'_s :

(A) given by friends

(B) the status assigned by

colleagues

(C) got through one’s own

accomplishments

(D) given at birth
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16.

17.

18.

Norms governing every day

practices, customs and habits are

called :

(A) Mores
(B) Laws
(C) Folkways

(D) Institution

The nearest term for a situation
“where surgeons use humour
while performing difficult
procedure in an emergency’.
(A) Role conflict -

(B) Role segregation

(C) Multiple role

D) Role’ distance

Who gave the concept of ‘Little
Community” ?

(A) Robert Redfield

(B) Radcliffe Brown -

(C) Robert Merton

(D) Raymond Firth
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19.

20.

21.

Norms which are based on the
moral vision of how a society is

cohesive is :

(A) Folkways
(B) Rules

(C) Constitution
(D) Mores

Who has given the concept of

informal bureaucracy ?
(A) M. Weber

(B) Merton

(C) Pareto

(D) Peter Blau

Which of the following- criteria is
not generally linked to features of

association ?

(A) Membership
(B) Goal

(C) Discrimination

(D) Norms
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22. The book,‘ ‘Some Aspects of Family
‘ in Mahuva’ Was written by :
(A) L P. Desai
(B) A. R. Desai
(C) K. M. Kapadia
(D) Iravati Karve
93. Which of the following is an
example of probability sampling ?
(A) Snowball |
(B) Purposive
(C) Quota
(D) Random
24. Assertion I: In Europe, feudalism
got transformed to capitalism.
Assertion II : According to Marx,
this is an illustration of changes
in infrastructure.
What is your assertion :
(A) Both I and II are correct
(B) Both I & II are incorrect
(C) 1is correct and II is incorrect
(D) 1is incorrect and II is correct
25. The book ‘Structure and Function
in Primitive Society’ was written
by :
(A) Malinowski
(B) Radcliffe Brown
(C) R. Merton
(D) T. Parsons
Soci.~IT |
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26.

27.

 Which of the following is an  26.

example of non-probability

sampling ?
(A) Random
(B) Systematic
(C) Cluster

(D) Convenient

Match Column I with Column II 217.

Column I

(@) Max Weber

(b) Karl Marx

(¢) Lewis Coser

(d) G. H. Mead

Column II

(@) Mind self and society
(i) Ideal type

(iii) Capital

(iv) Functions of conflict

Key :
a b c d
(A) i i v
B i i ii v
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28.

30.

Give the nearest term for the 28.

pattern of social change
characterized by rise, decline and
fall of societies :

(A) Evolutionary theory

(B) Diffusion theory

©) Cyclical theory

(D) Immanent theory

According to Mead, the four 29.

stages of ‘act’ comprises of :
(A) Impulse, overt action, covert
action, self

(B) Pre-play, play, game state,
generalized other

(C) 1, me, self, conversations

(D) Impulse, perception,
manipulation, consumption

What type of unit is a family in

an industrial society ?

(A) Economic

(B) Production

(C) Profit

(D) Consumption
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31.

32.

33.

In whose conflict theory the terms
‘quasi-groups’ and ‘conflict-groups’
were used :

(A) Marx

(B) Coser

(C) Collins

(D) Dahrendorf

In Parsonian AGIL model, which
institution is primarily associated
with adaptive function :

(A) State

(B) Economy

(C) Religion

(D) Family

Levi-Strauss’ work has been
organized around three areas :
kinship, the analysis of mythology
and the nature of primitive
classification. These three areas

are connected by :
(A) Social exchange
(B) Social conflict
(C) Social barrier

(D) Cooperation

Soci.—I1

31.

32.

33.

Siet Al Rugladl g W
2 Aald AHS AGEL AU

-

89

(A) U

(B) SR

©) sidl=y

(D) SeIgls

YRAAAL 3.2, 2U8.0d. WdaUL

wals d s9 AL vgsani-il
sM A Asddl B ¢ |

(A) UAFY

(B) ity

©) @i

(D) 42

AQRgiAd ddtelt A el WA
Asidy Aousyoial,
yuasaidg @sdve, sulky
ol @3Y

2L AR Aol NAniell 59 sueid
Wasd Asddal § :

A) AWwuls [QAHa

@) wulrs Al

©) wulys a4

(D) USSR

[P.T.O.]



34. Conflict theory arose primarily as

35.

' SociII

a reaction to which theory ?

(A) Existentialism

(B) Symbolic interactionism
© Structural-ful(actionalism‘
(D). Exchange theory

Who has given three basic

premises of symbolic

interactionism ?
(A) Kuhn
(B) Mead

(C) Blumer

(D) Goffman

Sociology is a science because it
is :

(A) .objectivity

(B) methodological

(C) quantitative

(D) qualitative
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37. Which of the following is an

instance of null hypothesis ?

(A) Education promotes upward
mobility

(B) Education

promotes

downward mobility

(C) Education promotes
horizontal mobility

(D) Education has no effect on

mobility

Wl;ich of the following is not a
feature of traditional caste
system ?

(A) Endogamy
(B) Distinction based on purity

and pollution

(C) Occupation

(D)

Achievement based on merit
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39. According to Durkheim :

I. Suicide rate varies according to
extent of integration and
normative regulation in a

society,

II. Egoistic suicide occurs because

of lack of normative regulation.
Do you think :
(A) Both I and’ II ‘are cérrect
(B) Both I and II are incorrect
(C) Iis correct and II is incorrect
(D) Iis incorrect and II is correct

Which of the following captures
Pareto’s fheory of éirculation of
elites :

(A) Revolutionary

(B) Diffusion

(C) Evolutionary

(D) Cyclical

Soci.-11
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41.

42,

Soci.~I1

Content analysis is :

(A) a direct ‘method

(‘B) an indirect method

(C) a physiological method

(D) a‘projectiv‘e method

The belief that culture can be

understood only in terms of its

own values and in its own context

is referred to as :

(A) Cultural reflexivity
(B) Ethnocetricism
(C) Cultural dynamics

(D) Cultural relativism

Give the nearest term to attempts

~ mode in hospitals to rehabilitate

persons who are alcoholics or
drug addicts :

(A) Re-socialization

(B) Anticipatory socialization
(C) Role conflict

(D) Training
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45.

46.

According to which scholar, class  44..

conflict is based on differences in

authority such as organisation.
(A) E. Durkheim

(B) K. Marx

(C) M. Weber

(D) R. Dahrendorf

In a distribution arranged from  45.

the lowest to the highest score,

the middle case is called :

. (A) Mean

(B) Mode
(C) Range

(D) Me{iian

The tool wherein the respondents 46.

write the answer to questions put

té him in a research is called:
(A) Interview

(B) Questionnaire

(C) Response

(D) Informant
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47.

48.

49.

50.

Which one of the following is not

a level of measurement ?
(A) Nominal scales
(B) Ordinal scales
(C) Interval scales
(D) Attitude scales

Which one of the following is not
covered by Robert Merton in his

criticism of functionalism.

(A) Functional unity

(B) Universal functionalism
(C) Functional indispensability

(D) Functional pre-requisites

In a questionnaire, when
responses are restricted to h
possible set of answers, it is
called :

(A) Open-ended

(B) Structured

(C) In-depth

(D) Unstructured

So Intensive study of a single unit
of research is known as :

(A) Expleratory study

(B) Content analysis

(C) Pilot study

(D) Case study

Soci.-I1
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